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QUESTION 1

Click the exhibit. 

The operator at PE1 wants to analyze the traffic between CE4 and PE2. On a Nokia 7750 SR, which of the following is
required as part of the configuration? 

A. Both PE1 and PE2 need a mirror source. 

B. PE2 needs a mirror source with the remote source specified. 

C. PE1 needs a mirror source with the remote source specified. 

D. Both PE1 and PE2 need a mirror destination. 

E. PE2 needs a mirror destination that specifies a SAP. 

Correct Answer: D 

 

QUESTION 2

The SAP 1/1/1:2.3 receives an untagged Ethernet frame. Which of the following is TRUE? 

A. The frame is dropped. 

B. VLAN tags 2 and 3 are added to the frame. 
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C. Only outer VLAN tag 2 is added. 

D. Only inner VLAN tag 3 is added. 

Correct Answer: A 

 

QUESTION 3

Which of the following commands is used to enable an E-pipe service? 

A. config>service# epipe service-id enable 

B. config>service# vpws service-id enable 

C. config>service# service-id no shutdown 

D. config>port# port-id no shutdown 

E. config>service# epipe service-id no shutdown 

Correct Answer: E 

 

QUESTION 4

In a Layer 2 encapsulation, using Martini, what does the first (top) label represent? 

A. Tunnel Label 

B. VC Label 

C. Operational Control Word 

D. UNI 

E. NNI 

Correct Answer: A 

 

QUESTION 5

Which of the following about route distinguishers on the Nokia 7750 SR is FALSE? 

A. Route distinguishers are contained in VPN-IPv4 prefixes. 

B. Route distinguishers allow the same IP prefix to be used for more than one destination in a single VPRN. 

C. Route distinguishers allow MP-BGP to manage multiple routes for the same IP prefix. 

D. Route distinguishers are only used by the PE routes. 

Correct Answer: B 
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